[image: ]


[image: ]


[image: ]

[bookmark: _GoBack][image: ]
image1.png
4.3 Solving Inequalities Using X or =_
E.Q.: How can you use multiplication or division to solve an inequal
Key ldeas:
+ To solve inequalities, follow the SAME steps for solving an equation.
=Undo (x) by (3)
= Undo (%) by (x)
= Multiply a fraction by its RECIPROCAL
Excepti
0 s NEGATIVE, REVERSE the INEQUALITY SIGN
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Ex.1: Solving an Inequality Using Multiplication
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Steps
xis = by 5,
ned 40 ()(3 by 5 to isolate x.

(2)Was the coefficient of x negative?

--5 stays the same.

-->Yes: REVERSE < to -
(3 Boundary value is i

@) Use 9 :boundary value s QOKA(
ot Yot So\\j\f\g\
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Steps

x is being (X) by 6, do the opposite

and _— by 6 on each side.

Is coefficient of x negative?
inequality sign doesn't change

-->Yes: inequality sign must REVERSE

What is the boundary value? —5
Do we use an/open circle or a
closed circle?

«@ the boundary value is not included
wego AROUND it
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_3 Steps I
2 n<6 (@) ' is being (x) by|§|, so we

(x) by the RECIPROCAL. |

( ;)@; ") @‘) everse the inequality symbol?
negatlve coefficient.
ﬂ @(o (3) Boundary value?

open or a closed?
:‘) . ~5 - # is a solution because of the
- a

0" line.




